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22,781 + 28,817 =
780.81 — 263.45 =
16 x 72 =

926 +4 =
2 1

4 3
50% as a decimal =

455.1 +10=
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7339.87 + 478.03 =

7,267 - 2)306 =
57 x84 =

762 +3 =

2 1

-4 -=
6 2

0.7 as a fraction =
0.711 x 100 =

97,134 + 72,807 =
134.7-65.8 =

33x57 =

2,112+ 4=
3 1
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4 6

53
Tog 35 @ percentage =

7,741 - 11000 =

891.04 + 137.99 =
9,447 - 41278 =
24 x61 =

7,842+2=
5 1

10 4

54 :
—— as a decimal =
100

21.47 x 100 =
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58,605 + 22,576 =

567.35—-175.44 =
53x42 =

1,065+ 5=
3,2

5 3
67% as a fraction =

48.3 +100 =
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73,086 + 13,874 =
5,341 -3,496 =
74x17 =

4,371+3 =
1 2

7 3
0.82 as a percentage =

0.00149 x 1,000 =




